202211 A138 €R IR AR THREEXRBHREE 2R S
% & | IR AYHRTHREEXR 552?@5 1400m ’5‘—1'3“2 oE C) if%;ﬁﬁgg 8'2546'32‘ ghiﬁgq 455 5 355 3 ” }
- . ISEBGEY
10:25 |957Ly FR 2% & 741.\ X L—R5y J4ER - SMM 11 MMM 11 SMH 8 MMH 6 Grart /
R e | FraEYR ;‘gﬁ;ﬂ;@% T i 35 E AR TE=BMER B BHE (& B) Bt HTE=L—R%& L—T14v¥ 95X 3MTE=%EIE BEHK-EEF- A K
7B & E % B F | KBAMNBZLT[B £roi10%| B F 1400 |HTE=RAKE - & BF-T 2, 3, AABEBIEE S5{TE=IEA- 10— - BiFRE 244 EAYBF
8 26 | B 2 |EnEE/FE|fk  4guT | B F 0900m |647H=L—XX—XFISF - #HIF (HELY, MFHY, S)EL\) BI%F 3 Fo(L REEAGRE 29-t~4f8 - 3A~4F - %IF(5~1) LY 3 FIRAL
HEEARGERES WH | £ 5 | SU0RE (fm & | By | L—ALYSFEAL - HBEOLYSFEAL > 05 OBAKT HIE=1EBEXE2EE GEE) 1. 2. SEBOWE
£E/BE o | BERM | 10712858 | # BEFR| % j00m i WA 3R AFERT 5ERT
Evi7—%— 52|17 ©: : :: | &F00071 [FM0007T [2210.30 6 & 2R |22.00.17 23 & 4903 |22.06.25 29 & 3%/ | 22.06.18 33 & 3mmb
NFIYTY: BlLR JH0001 | AF0000 [ 254 2% | fERESF RESF KEFF
= -~ 54.0 .200 £50002 | F=0000 |9 1038 2& 6A W 14 143812% 8N 4+ |9 988 4% TA 6 788 3% SA
1f1|e|s—rExa—F1— E | BRIk 2B 13720 £40.0.0.0 | FEH0.0.0.0 | 443 +11 LR 54 @O® | 432 0 %iR— 54 @@ | 432 +4 kMG 51 DD 428 # MK 51 DO
(FUHTRRRP) £R .163| &8 13729 | B4 0.0.0.0 | F+£0.0.0.0 | 1400m &4 B 1:37.2 43.1 | 1200m % B 1:16.5 41.2 | 1600m 2D £ 1:38.0 39.0 | 1400m =D B 1:24.4 35.4
" 0-Y-77-4 [%]] 0004 | %0001 |£40002]| @ ----- SMM 40.2-39.6 211 (9) | MMM 34.3-37.1 311 (14) | MMS 35.5-35.8 531 (9) | MMM 35.9-34.6 353 (6)
() JPN$Z B 0.0.0.1 | #05£0%£0i80 | £ 0.0.0.2 | #158 0000 [ $//E2yy(4.8)  kEE | MY 436, 1) SHEE | AN N@.2) SKBE [ 0-bT474-0(1.5) Sk
AT aoR—5— 210 T |&F0002 | FME0002 221030 ] & &R [22.10160 & §,R 22.09.15 1] & P93l | 22.08.31 13 & FIAl | 22.08.16 13 & F1AI
TNy S —F ERX JA&0.0.00 | AE0.0.00 | 2% 285 25 A % | 2RHE 2% | 2Rm4LE 28
v 54.0 .263 FH400013 [ F=0.000 |6 1088 4% SA 6 8%E 1% 2A ﬁ 12 1288 9% 9A 4t 8 888 5% SA 7 888 7% 8N 4
A 2 FLRa—F HE | ERR £R 1353@® | £40.0.0.0 [ FHE0.0.0.0 | 484 -12 E[RK 54 ©®B® | 496 +18 EILR 54 ®O®® | 478 -2 FREFE 54 @O® | 480 -4 FEHEE 54 ®® | 484 -4 HEE 54 @®
HoF—HALUR) 23R .163| £B 1353© | £40.0.0.5 [ F£0.0.0.3 [ 1400m &4 B 1:35.3 41.5 [ 1400m & B 1:35.9 41.4 [ 1700m & B 1:59.9 46.9 | 1100m & 7 1:10.0 38.5| 1100m 4 & 1:09.5 39, 1
KBRS [£1] 00013 [%0002 |2400013| -®-®----|SW 40.2-30.6 322 (6) | SMM 40.6-39.6 332 (4) | MMM 41.0 311 (12) | SHS 39.0 225 (2) | SHM 38.3 243 (5
AR 0.0.0.1 | k05020580 | £% 0.0.0.0 | 18 00010 [ 4//E 2hyy(2.9)  $3EH | $v94)7 - (3.2) FHkF | Tzub 97(6.8) Sk | 2eu74vy (2.0) kiBSE | b3/ a(1.9) #kESE
R=ANRE 2|13 B A: . |[£50000 |FME000.1 |2270.10 26 5= A4Bx#3 | 22.10.01 22 ¥ b5Fm8 | 22.08.28 26 ¥ 4/NA6 | 22.07.10 20 & /M4
A IS INFA B JA0.0.0.3 | AEF0.0.0.0 1) 4 ] J] L3
ZINT 54.0 .207 A400.02 [ F=0000 |10 1188 9FIIA 4 |15 158 5HI5A 8 1288 5&10A 14 148E12%14N 4}
KN 3| A | ISR bTY 25k | &m— 50001 | FE00.0.0 416 +2 kBF 50 @OD| 414 +2 k&F 50 @[ 412 -2 k&% 50 414 1) BB 54 BB
(F2THANAN) &R 287 £B 13000 | A 0.0.0.1 | F+0.0.0.0 | 1800m &4 & 1:56.0 41.0 | 1400m &% B 1:30.0 40.0 | 1000m % B 1:02.6 37.6 | 1200m A B 1:16.9 38.9
FEEA [£]] 0004 |%£0002 |£40003|----@5--[HIM 35.7-38.0 211 (10) [ MMM 35.2-38.6 112 (10) [ MSM 35.2-36.5 143 (5) | SSM 34.8-34.7 141 (13)
PEET 0.0.0.0 | #05£020580 | £ 0.0.0.1 | 48 000 1| INF AMY (4. 6) JLEE #7Y-(3.9) HFE | ThAIbe-1 (3. 0) Bk | 7095 0-4(7.4) KEE
5= H2 [T T . : |&ZF0007 | FHE0006 |2211.016 22.10.16 7 SR | 22.10.04 7 & &R | 22.09.20 7 ¥ %R | 22.09.06 8 & &R
HA4 T oh B JA0.0.0.0 [ AEH000.1 | 253 Zﬁ 25 2% | 3kEAE 2% | 2R3 2% | 2R3 2%
~ 55.0 .314 H40007 [ F=0000 |8 85 6& TA 7 BE2ESA KW |7 8E2BEG6A W [4 7E2EIA KW |5  6E2HE6A W
4 HLYF rHvay B | minE £F 1359@ [ £470.0.0.0 | FE0.0.0.0 | 496 -1 M4I3A 55 @DO@® | 497 -3 hE#E 55 @DPD@ | 500 +12 ch@#E 55 ©Q@® | 488 -5 M43k 55 @O | 493 -6 hBEE 55 ©OO
(kDA =2%) 2R 223 £ 1359@ | 4 0.0.0.1 [ F£0.0.0.0 | 1400m # B 1:36.5 41.7 | 1400m # B 1:36.5 42.0 | 1400m # B 1:37.1 42.8 | 1400m # & 1:35.9 41.3 | 1400m # B 1:37.9 41.6
REAXR [%1] 0007 [£0003 240007 | -® @ -@-@| S 40.3-30.6 221 (8) | MM 40.6-39.6 231 (6) | SMM 40.2-40.2 321 (6) | MMS 39.8-40.9 243 (3) | SMH 42.5-38.7 321 (4)
APIEHE 0.0.0.5 | $05£02£0i80 | £ 0.0.0.0 | 158 0006 | b-7 M 7142(4.0)  kE%E | $954)7 -(3.8) S | A I yb (4. 1) SRS | T{YuN)Y (2.6) Bk TR 7Uh-(3.8) 5k
JL—3—OrFY 42 ew B ﬁ;0.0.0.I ;cLo.o.o.1 222.10.430 5 & ﬁzg
= Sa EUE J&0.000 [ AE0000
h2/32vy 55.0 348 £50001 | F=0000 |8 108 1B 24 B
5(5 IRF55 B | $HKE 8 1365@ | £40.0.0.0 | FH0.0.0.0 [ 491 HHE 5 ©@QOD
(Z7RYT7) &R .222| £B 1365@) | 4 0.0.0.0 | F£0.0.0.0 | 1400m % B 1:36.5 42.0
e [£]] 0001 [Z£0001 |£40001 ]| -® «---- SMM 40.2-39.6 221 (7
AEIER 0.0.0.1 | 04030580 | £ 0.0.0.0 | 13 0000 | #//E A9y (4. 1) HkESH
IUF o REF U — 52 [ 10 | A |£70000 | F080000 [22.07.28 13 & P4l |22.07.07 16 & M4l |22.06.15 19 ¥ Al | 22.06.02 14 £ 940
LAYt —HA ERE JA0.000 | AEF0.000 | 2% 2% ,ﬁﬂﬂ)#?fﬁll 2% JRARRE 2 J RAE.%ZE 5
J 54.0 430 H50.0.04 | 0000 |9 1058 8/10A 4 58 8% 8A k4|9 1188 1& 9N |BIA (9 1088 7%& 9N 5+
O 6| A2l AT 442 B | s E40.0.0.0 | FE0.0.0.0 | 454 -10 highsi 54 @@ 464 +12 WL 54 (DO | 452 -6 MIHE 54 (ND| 458 M3kt 54 ®©
(FAvn—hvry=) &R 257 FA0.0.0.1 | F£0.0.0.0 |1600m & B 1:49.3 41.7|1000m 4 # 1:04.1 38.3 [ 1000m 4 B 1:06.8 40.1 | 1100m &% F 1:11.1 40.0
N-E2-2by977-4 [£]| 0004 LH0.00.4 | e HSS 35.2-41.7 154 (4) | MMM 3.5 223 (5) | MSS 40.7 135 (2) | WSS 39.0 223 (8)
R 0.0.0.0 | #60%02£0580 | £3% 0.0.0.0 | #mir 0000 | My >(4.8) RRE | 34Y247(2.4) sk | YT -(2.3) EEE [ W74 A1) HEE
T AR)-Mryb 42 - B ﬁ;o.o.o.o ;EL 0.0.0.0
_ P e FiSHA J&0.000 | AE0000
=72y FIR 54.0 218 H50000 | F=0000
107 F—7ooq & | migs EX0.000 | FF00.0.0
(KRR b 2inv—i—) &R .288 EX0.0.00 | F£0.00.0
I-74035 0.0.0.0 0000 | ---
BW5VE (%) 0.0.0.0 | #05£02£0580 | £% 0.0.0.0
Z)URNS—F #2 LE) 5 IR ﬁgo.o.o.o io.o.o.o %10.09 2] & A4RR2
= ° L] J40.0.0.1 H0.0.0.0
I3T—FETU— |50 0 A40000 | ¥=0000 |15 16TIBHEI6A 4
88| a1 rEFU— B | €E— 240001 | FE0.0.0.0 | 440 4 KILT 54 @D
(B3Z2aF vy k) R 287 EEA0.0.0.0 [ F£0.000 | 1600m & 7 1:43.7 42.2
P BE [£]] 0001 [£0001 |240001 | ----®- MM 35.7-36.4 411 (16)
ER—X 0.0.0.0 | 305020580 | £ 0.0.0.0 | @458 000 0 [ " -25-(6.8) Piskivt
49 FT—ILEY 42|16 O: :: £%50.0.1.0 [ Fm0.0.1.T [22.10.30 8 &R 22.09.25 27 & GSFm/ | 22.09.17 23 F GF®R3 22.08.20 27 & 4NAS [22.06.12 33 & 4mmé
FYF—a =L JA0.0.01 | AEF0.0.00 | 284 2% | REF REF REFF ]
< 56.0 .338 £50.0.1.0 | F=0000 | 3 1088 5% 4A 14 15EI5EISA K5 | 10 1038 8& 9A 4 10 108 7&IOA 4 8 93 6%F 9A
8|9|0|vnn—or— B | MR &5 1338@) | £40.0.0.1 | FE0.0.0.0 | 446 +6 ML 55 BB | 440 -6 E4HE 54 @G | 446 0 A 51 446 +18 A 51 428 %) E5 5k 54
(Majest i cper fection) £3R 288 £E 131200 [ 4 0.0.0.0 ;to,o.o 0 [ 1400m 4 B 1:33.8 40.7 | 1400m ¥B B 1:24.8 38.1 [ 1400m & B 1:31.2 41.8| 1200m ZB B 1:10.0 35.7 | 1200m 2B B 1:12.9 35.5
BUERERRSHIAT (2] 00.1.4 [F001.0 [£4001.1 | @ - -®-| MM 40.2-39.6 433 (4) | MMM 34.7-35.4 411 (14) | MNS 36.0-38.9 411 (10) | MMM 33.4-34.7 323 (9) [ SWM 35.3-34.1 132 (4)
(BK) 77-AbE" Y 3y 0.0.1.0 | #0502£0580 | £%0.0.0.3 | 138 oooo #7629y (1.4) kEE | T -G1) FEE | M) 3.8) Sk | 9uR .9 Sesek | 770k 02(3.5) Sk
&iRA— 1400miB 4 55 Atk (% +E,§Fﬁ 2020.11. 11~2022. 11. 10) ERTE HEHSHENE
JEE AHEA HERSE 1F 2% 5 B R * (& 1 2 3 456 7 8
1 7RI v L= 146 19 26 16 85 0.130 0.308 F (37%&M=:E) 28 28 29 30 28 29 28 30
2 L—=5—vvF 103 18 14 13 58 0.175 o311
3 : 83 16 11 749 0.193 0.325 7 FESV T/ 2L RBAMELL
4 64 16 6 8 34 0.250 0.344 i ® B % 4038 HEFHAT (534, 544) 5 workiox
5 90 15 12 14 49 0.167 0.30 0 __Z__ o 129N BFAIE L (434, 445) 3 sowk
6 28— 77 1413 8 4 0.182 0. 351 q, # ¥ 401 M F<Y  (255,355) 1 %
7 999 )T — 57 14 5 7 3 0.246 0.333 5 @00 HAL:1:33.3 BLVAH (335,245) 1 x
8 93 13 19 12 49 0. 140 034  — _ZZZ_
9 SrREY A 413 8 5 48 0.176 0.284 ® @
10 H4H9RT4552 60 12 15 72 0. 200 0. 450 5 066

2022F11A138 ®iR IR RYKRTH

REXBEH2®S ¥7ILyFR 2%

EE 1400m H— k- H

BEEHT O, BRORERZ.

HERH, BFEELE.

FTARTERBERTOHRREBAELTF S,

FENOOEM, EHEELET.




